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Your turn! Write an analysis of each proof involving congruent triangles,

1. Analysis:

Given: BC=EF, £B=<E, and 2C=/F

E Analysis:
B
Working backward we must ask the key question,
"How can we show that two triangles are congruent?"
F The'answer? A triangle congruence theorem like S5,

A cP SAS, ASA, AAS :
Prove: AABC=ADEF s . but which one? To find out, start
Stat s l R working forward. Listing all of the given information
: %E_Tg_; . eé-sons gives us a pair of angles £A and 2D sandwiched
2' B:—': . 2' vaen between a pair of congruent sides AB=~DE and AC=DF.

LDEL - Given So this means we have AABC=ADEF by the SAS
3. 20=,F 3. Given _ theorem
4. AABC=ADEF 4, ASA

2. .
Given: AB=DC f

R C
O
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Prove: AABC=ACDA

Statements Reasons
1. 11. Given
Z. 2.
3. 3.
i, Y.

3.

Given AB [|ED, AC=EC

A D
C
E

Prove: AABC=AEDC

Statements Reasons

1.ABJ|ED 1. Given

2. AC=EC 2. Given

3. LA=/E 3. Alternate Interior angles ATAT
4, £ACB=sDCE 4. Vertical angles Thepeem VAT

5. AABC=ADRBC

5.A5A



Y. Prove that AAEB = ADEC. B

E
A
_Statements 1 ‘Reasons - |
1. 1.
Y 2.]
3. 3.

5. Fill in the missing statements and reasons.

—_ B
Given » CB= CE,AC = DC c
Prove » ABCA = AECD
A

_Statemenis | Reasons
1. EE = @ i 1. ?
2, 2 2. Given
3. LBCA= /ECD " 2
4. ABCA = AECD 4. ?
—_— —_— H L1 E
©. Given i EF = GH o ‘
' FG = HE A £
Prove » AFFG = AGHE . e
G H F

Statements , Reasons

1 EF = CH 1. Given
2 FG=HE 2. 2
3. GE =GE x> 2

4. AEFG= AGHE ' a. 2




